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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$m| H$m h¡&
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1)	 (i)	 Who coined the term Prokaryote and Eukaryote?

		  àmoHo$[a¶moQ> VWm ¶yH«o$[anmoQ> eãX {H$gZo {XE?

	 (ii)	 Name the smallest virulent particle which is pathogenic.

		  Cg g~go N>moQ>o H$U H$m Zm‘ {b{IE Omo amoJH$maH$ h¡?

	 (iii)	 Write the name of two enzymes found in Peroxysomes.

		  naAm³grgmo‘ ‘o nm¶o OmZo dmbo Xmo EÝOmB‘m| Ho$ Zm‘ {b{IE&

	 (iv)	 Name the structure of chromosome to which the 

microtubules of spindle fibres attaches itself.

		  JwUgyÌm| H$s Cg g§ñWm H$m Zm‘ {b{IE {Oggo ‘mB©H«$mo{Q>ã¶yb OwS>Vo 
h¡& (ñnrZS>b ëVwHo$)

	 (v)	 With respect to meiosis the process of terminilization 

discuss in which subphase?

		  AY©gyÌr {d^mOZ Ho$ g§X^© ‘|, CnmÝVr^dZ {H$g CnmdñWm ‘| hmoVm 
h¡?

	 (vi)	 Kappa particles are an example of  inheritance.

		  H$ßnm H$mJ  d§emJ{V H$m CXmhaU h¡&

	 (vii)	What is the unit of distance between the two genes?

		  Xmo OrZm| Ho$ ‘Ü¶ Xÿar Ho$ ‘mnZ H$s BH$mB© ³¶m h¡?

	 Section - B	 4 × 3.5 = 14

(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 

exceed 200 words. Each question carries 3.5 marks.



ZO-02 / 800 / 4 	 (3)	 (P.T.O.)

240

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&

2)	 Discuss erythroblastastosis foetalis.

	 J^©a³VmUwH$moaH$Vm Vmo g‘PmE&

3)	 Explain the types of plasmids.

	 ßbmpñ‘S> Ho$ àH$ma g‘PmBE&

4)	 Describe host call cycles of virus.

	 dmB©ag H$s nmofH$ MH«$m| H$mo g‘PmBE&

5)	 Comment upon the cell organelle having cart wheel structure.

	 H$mQ>© MH«$ aMZm dmbr H$mo{eH$m§J na {Q>ßnUr {H${OE&

6)	 With the help of inheritance in Andalusion fowl explain 

incomplete dominance.

	 AÝS>më¶w{g¶Z ‘wJu ‘| d§emJ{V H$r ghm¶Vm go AnyU© à^m{dV Vmo g‘PmBE&

7)	 Enumerate the Mitotic Apparatus.

	 ‘mBQ>mo{Q>H$ CnH$aU H$s {ddoMZm {H${OE&

8)	 What are lampbrush chromosomes? Explain with diagrams.

	 boån~«e H«$mo‘moPmoZ ³¶m h¡? {MÌ Ûmam g‘PmBE&

9)	 Describe the RNA having clover leaf model.

	 ³bmoda nU© à{Vén dmbo RNA  H$mo g‘PmBE&
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	 Section - C	 2 × 7 = 14

(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 

answer maximum up to 500 words. Each question carries 

7 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 Explain the following : / {ZåZ H$mo g‘PmBE…

	 (i)	 Supplementary genes / g§nyaH$ OrZ

	 (ii)	 Complementary genes / nyaH$ OrZ

11)	 Describe the cell organelle which is colled the post office of the 

cell.

	 Cg H$mo{eH$m§J H$mo g‘PmE {Ogo H$mo{eH$m H$m nmoñQ> Amo{’$g ^r H$hVo h¡&

12)	 “Plazma membrane is selectively Permeable’’ Justify.

	 ""ßbmÁ‘m H$bm ‘| M¶{ZV nmaJå¶Vm hmoVr h¡&'' {gÕ {H${OE&

13)	 Discus the following :  {ZåZ H$mo g‘PmBE …

	 (i)	 Euploidy	   gwJw{UVm

	 (ii)	 Aneuploidy	  AgwJw{UVm


